STOICHIOMETRY LAB: VINEGAR AND BAKING SODA
Purpose:	You will determine the amount of carbon dioxide (CO2) gas that should be produced in a chemical reaction and compare that to the amount actually produced.
Materials:	baking soda (NaHCO3, sodium bicarbonate), vinegar (HC2H3O2, acetic acid), 2 plastic cups, lab balance
Procedure:	Follow these steps and check them off when complete.
1. Get two cups.  Label 1 cup A and the other cup B.  
2. Determine the mass of cup A and record the exact mass.
3. Tare the balance with a piece of weighing paper on the balance pan.  
4. Scoop about 1.0 g of baking soda on the weighing paper.  Record the exact mass of baking soda.
5. Add the baking soda to cup A.  Make sure you remove all of it from the weighing paper.
6. Add 25 mL of vinegar to cup B and take the mass.  Record exact mass.
7. Slowly add all of the vinegar to cup A.  Swirl the cup to release all of the CO2 gas.
8. Determine the mass of cup A after the reaction has stopped.  Record exact mass.
9. Determine the mass of cup B.  Record exact mass.
10. Perform calculations with the data to determine the amount of CO2 that escaped and the percent yield.  
Data:
	mass of cup A
	

	mass of baking soda
	

	mass of cup B with 25 mL vinegar
	

	mass of cup A after reaction 
	

	mass of cup B after reaction
	











[bookmark: _GoBack]Calculations:
1. Calculate the mass of vinegar added.  Show all work.


2. Calculate the combined mass of baking soda, vinegar, and cup A.  Show all work.


3. Based on the amount of baking soda that was reacted, how many grams of CO2 (g) should have been produced?  Show all work.


4. Calculate the mass of CO2 (g) that was actually produced.  Show all work.  


5. Determine the percent yield.  Show all work.

percent yield = (amount of CO2 produced / amount of  CO2 expected) x 100%


Experimental Errors:
List four experimental errors that could have affected the results of this experiment.
